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Full Marks : 80

Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks J

for the questions.

PART-A (F -9H)

Q. No. 1 (i-wi) carries 1 mark each
Q. Nos. 2 - 7 carry 2 marks eacl

Q. Nos. 8 -11 carry 4 marks each
Q. No. 12 carries 6 marks

- PART-B (& -9)

Q. No. 13 (i-wvi) carries 1 mark eacl
Q. Nos. 14 - 19 carry 2 marks eacl

Q. Nos. 20 - 23 carry 4 marks each

Q. No. 24 carries 6 marks

Total (PART A & B):

Total number of pages — 16

1x6 = 6
D268 =12
4x4 =16
6xl = 6

Total = 490
1%6 = 6
2%6 = 12
ix4 = 16
6x1= 6

Total = 40

" 40+ 40 = 80
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- PART-A /F-51%

Define involuntary unemployment.

SNeg$e FaRIs wieEl 5|

What is effective demand ?

Sfe. pifznl 62
What do you understand by depreciation of capital ? i

GNEEICD R 4 (Fill in the blank)
' 1

GNP = GDP - | ' (3T 212 77 79)

What is foreign exchange market ?

e &[iETg =g 6

Which of the following transactions are included in the current
account of Balance of Payment ? L

sHRTeiies O bl 2piee FEFRS FRSD] CHIA YUYE 27

(1) Import and Export of goods

TS S o @1

(b) Import and Export of services

RIS SmE e I8
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(c) Unilateral transfer

ik kR NG

(d) All of the above

\€oRE AN

(Choose the correct option)

(s Tesol IR GETed)

2. Write the differences between GDP at market price.énd GDP at factor cost.

i
<& 7 GDP S T GRS GDP-< Mes ey Tl
OR/®%4l

Write one similarity and one difference between intermediate goods and

capital goods. i C1+1=2

S RiG R ARG RIS GG AT < by ALy el

h)

3. What do you understand by Paradox of Thrift” ?
eard A1 o wieE AT fs 312
(31 ‘ Contd.
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OR/&341

(R

What is aggregate supply ? Expléin.
AfGE @i 2 qE B |-

4. Write fwo differences between direct tax and indirect tax.

O T R PRT AR Ty 2419y 5 |

N

What are the components of high-powered money ?

o1

CHTACHTSE JGIE SoMR & T
OR /<241
1+1=2

Define Bank Rate and Cash Reserve Ratio.

([T QS TS q90 A Seyoiies Fel ol |

Write fwo differences between Balance of Payment and Balance of Trade.
2

AR 0] S ifdeys TR M 75! ALy 2|

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate

; 2
T R 2 e AReETR R 299 99 5 b e
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What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of

investment multiplier. In this case, what will be the value of MPC ?-

14+140=4

RREEN v B2 7@ 300 @I T wod RN @Sty =i 1200 @b 5

I =, (90% [Ew@ @ats AW ol 591 | G2Res, MPCS =i 9w 792
OR /241

Briefly discuss the components of aggregate demand.

FEE 5ifeAe CAETR A SCEnl |

9 Write differences between the following concepts : (any two) 2+2=4

fFrefife YRAPR e AL &1 ¢ (R 7o)

(i) Autonomous investment and Induced investment.
EiS ﬁﬁmsn Wi wiferes [ |

(i1) Ex-ante consumption and Ex-post gqnsumption.
enfe Toreln o o¢ﬁ@f@vﬂﬁﬁﬁ|
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(ii7) Marginal propensity to consume and Marginal propensity to save.

AT Toireln el S AiftR A%y eRe |

L

(iv) Marginal propensity to consume and Average propensity to consume.,

AN ToTels 270 W= 91T THATS 2ol |

10. Discuss four main functions of Central Bank. 4

(YR ([RF= BI04 1 Sl 11
- OR/%1%41

Explain how commercial banks create credit. : 4

AT @K R 2 G FE T

11.  Discuss the components of Government Budget.

DI GBI CAMIHLZ TN 1 |
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OR /%241

Define the following : 1+1+1+1=4
wore PR TRE! Bl -
(i) Fiscal Deficit

—@m% o
(it) Primary Deficit

e
(i) Planned government expeﬁdi’mre

ARGES 5P| N

(rlv) Non-planned gqvernment expenditure.

ARG B T

12. Explain how GDP is calculated using Income method. L 6

Y 2Ged AZTO mcxamwww,ammn
OR /@124l

GDP can’t be used as an index of country’s welfare.

Discuss the reasons why
6

GDP % (1 G2= i 3o e TR TR @GR FROFIL SETD T |
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PART-B / 2z

1358 0) Define sustainable development. 1
ST CHEeR k@ R |
(i) During British rule, decay of Indian handicrafts was caused Jayyy ==
1

&l <meTe SiRes TiEe siors wRd o

(a) Discriminatofy tariff policy of the British Govermﬁent
g veiss B AR G0

(b) -~ Competition from machine-made products
TZ- e w9 7[ TA @h el

(c) Change in patterns of demand

BIfRVIF 4397 #/fRaes

(d) All of the above

G AR
{ (Choose the correct option)
(5% OG0! IR Chiveay)
(i) In which year the NITI Aayog was formed ? 1

RS (NITI) Sne @i 51w 59w <5< 0afeet 2
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(iv) What is the difference between ‘Labour Force’ and ‘Work Force’ ?
1

e S Y MES ALl

(v) Mention one similarity of the economic policies adopted by India and

Pakistan. 1
SRS TR AT g T AT o b7 ALY T T

(vi) The ‘Great .Leap Forward’ campaign in China focused on —

| 1

SIGE ‘W% BES '\B‘TT‘?[ (Great Leap Forward); "5[%?“7{% RIS
. ifee — ' ;
(r‘z) Privatisation
| e
(b) Widespread industrialisation

’ ‘ TODINRRER T

(c) Development of services sector

ol Qe B

(d) Economic reform

F2(F TR

(Choose the correct 0ph’an)

(w5 Geqh! e Bfeedl)
[9] ' : Contd.
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14. Mention fwo major industrial sector reforms in the Indian economy under

the policy of liberalisation. 2

TR SIS SEPR Sieo R SNIeT SOl A9 920 ¥ 7] @ AR

T 9
OR /91231

Write about fwo positive effects of LPG policies in the Indian economy.

2

CIToR TLIee LPG NS 75! N dekd /I & |

15. Write two merits of GST.
GST-J 75! 7Rt {72 |

OR/&441

What is demonetisation ? Mention one positive effect of demonetisation in
the Indian economy. , | 5

R 62 SRS wifoe Ramsas <br e 4O BTEY 7 |
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16. What is structural composition of an economy ? As on 2021, which sector

contributed highest to the GDP of ‘India ? 1+1=2

weifes <efefes A Rz 2021 570 (R 4¢3 wKes GDP (A i

z5ef @aNRR?

OR /%1341

Worite fwo characteristics of small-scale industries.

Tw SR 7 R el

17. Write two differences between economic infrastructure and social

‘infrastructure. l 2
| RIS RICRGIES ‘«Wﬁﬁ@@m"r%ﬁ? CRIRES] ﬁﬂn‘i
OR /=241
Write about fwa problems faced by the power sector in India. 2
s W 198 AT @@l 70 e [ e
[11] Contd.
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18. Write any fwo measures undertaken by the Government of India to

improve agricultural marketing. 2

fﬁa@aa}@amm@ TS BRI a%w‘ B2 ﬁmmzfﬁmmﬂ o7l |
OR/<44"

What do you unde_rstand by diversification of agricultu__re B )

IR @hgwe I & @

19. What are the three main approaches undertaken by Government of India

to alleviate poverty ? 2

STl GRRET AR TS b a7 T4 T Aife fob 5 &
OR /&24!
Write a short note on MGNREGA.

MGNREGA-3 RIca 55¢& <51 (Bispl fadl |
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20. Discuss the goals of planning in India.

Sireeda ARTEAR SORIPTE Sl 9 |
OR /9241

Briefly discuss fwo positive and two negative impacts of Green, Revolution.

2+2=4

ooE Raed 75 IS O 75 4SS eRE R SIS SNl 39 |

21. Write a comparative note on the demographic indicators for India, China

and Pakistan. 4

SRR SRR o fefee oFe, B SIF: AR 9 gemgee

(OIS 9 |
OR /4!

(i) Write fwo reasons for rapid economic development in China. 2

S e wetafes R 70 TR o |
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N
(]

answer. -

N

(i) Write two reasons for slow economic growth in Pakistan.

AIREINT W2 ST JEa 700 Fi5a 77|

Write about different types of unemployment.

s [fen e Ra &)
Is economic growth, a cause of environmental degradation ? Justify your
4

ST Tz 2R K98 @RiT @6 R @R 2 o Tees wers R

SRR |

OR /&%

(i)  Write fwo causes of global warming. ' 5
(oMot CRew . 70T Bl o

(i), Suggest two measures for attaining sustainable development in India

ORI THTEN TR AR A 75 AR SIS RTB |
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24, What is organic farming ? Discuss its merits and demerits. 1566

ke 3 2 Wi AR o= SRR SNCEDl 4|
OR/S44!

What is Human Capital ? Discuss the sources of human capital formation.

1+5=6

TR e (7 TG TE A1 SIPTR Sl I
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